Workshop Calculation and Science

ITI 15t Year, Common For All Engineering Trade
Module 10 : Trigonometry (English/ Hindi)

237 : What is the value of tan@ if sin® = 4/5 ? | 3¢

233 : How many degrees is equal to one radian? | Teh

IfeTeT & SO forda 32 A 27
A=
360
B: %
c: omgfreestudy.com

180
. 180

234 : Which is equal to sin6?

A : Opposite Side/Hypotenuse
B : Hypotenuse/Opposite side
C : Adjacent Side/Hypotenuse
D : Hypotenuse/Adjacent side

234 : il AT Sin6 & N &7
T T ueT / FHoT

T o/ faudia uey

o 3o UeT / FHoT

3T: HOT/3THe= ueT

235 : What is equal to cosB?

A : Hypotenuse/Adjacent Side
B : Adjacent Side/Hypotenuse
C : Opposite side/Hypotenuse
D : Hypotenuse/Opposite Side

235 : cosO & sRT&R FAT g2
T: HUT/37T oo U&7

&T: 37T UeT / ot

r: A9 9aT / ot

3): Hol/faadia get

236 : What is equal to tan6?

A : Opposite Side/Hypotenuse
B : Adjacent Side/Hypotenuse
C : Opposite Side/Adjacent Side
D : Adjacent side/Opposite side

236 : tan® & SRTeR FAT g2
T T U8 / FHor
a1 3ot 98T / FoT
AT faudra g&1/3m8Het gat
aY: 3ot 9aT/faadra TeT

Solutions and Explanation on
YouTube Channel

Sin® = 4/5 g dl tan® T AT AT §IaM?
A:

B:
C:

D:

WD Blw Wl uls

238 : What is the value of 8 if sin = V3/2 ? | If¢ sinB

= \3/2 T dl 6 T AT FIT gII?
A:30°|30°
B :45° | 45°
C: 60° | 60°
D : 90°|90°

239 : What is the value of tan 45° if sin 45° = 1/42 |
tan 45° ST ATeT FAT g1 TS sin 45° = 1/42

A=

2

B: B

2
c:1 omgfreestudy.com

-1

RE

240 : What is the value of sin 30° if cos30° = V3/2 ? |
sin 30° T HATeT FAT 19T ITe; cos30° = V3/2 ?

A

N | = |<|
SE N

B:
C:
D:

241 : What is 1 + cot26? | 1 + cot28 FIT §?

. sec20
: cosec20
: cot20
: tan20

o0 w>
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242 : What is the height of the wall where the ladder
touches the wall if the ladder is 2.5 m long makes an

angle of 60° with the ground? | 7o/ &aR @ Hr
IR T il & 3TehT TS T § Afe AT 2.5 #Hiex
oIt § A STHTeT & 60° T FHIUT FoATcl 572

2hm

A:413m|4.13m
B:423m|4.23m
C:2.165m|2.165m
D:443m|4.43m

omgfreestudy.com

243 : What is the height of AC? | T&EY &1 Fa1S fhdeir
g7

A 100 m Q, "

:1.732m | 1.732 m
:17.32m | 17.32 m
:173.2m | 173.2m
:1732m | 1732 m

OO w>

Solutions and Explanation on
YouTube Channel

244 : What is the height of the building if a ladder at
45° touches the building placed 16 m from the base

of the building? | $1asT $I Fa1s Fa7 § AT 45° W HEr
T o MR F 16 HeT ¥ o $7aeT ol Fell 82

:15m|15m
216 m |16 m
17m|17m
:18m |18 m

o0 o>

245 : What is the angle of elevation of the top of a
light house of 15 m height seen at a point 15 m away

from the base? | 3R ¥ 15 X g T g W@
STt aTel 15 HIeY 315 aTel Yhrel 81 & MY &l 3eaTaret
FIOT FAT §72

Sm

A 30° | 30°
B : 45° | 45°
C: 60° | 60°
D : 90° | 90°
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246 : What is the angle of 67 6 T SHIUT FIT §7?

100 [Sm
-~
-3
100 m \
A 30°]|30°
B : 45° | 45°
C:60° | 60°
D : 90° | 90°

247 : What is the term for the object seen higher than
eye level? | 31 & TR ¥ FW @S ¥ aTell ] 1
FIT g 6?2

A : Angle of inclination | JehIdl T IO

B : Angle of friction | &¥oT shroT

C : Angle of elevation | 3aTS T HI0T

D : Angle of depression | 37a4TG T 10T
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Solutions and Explanation on Open Mind Guruji
YouTube Channel For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com
https://omgfreestudy.com

